KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

ORIGINAL

Form ACO-1 October 2008 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #32781	API No. 15 - 007-23384-00-00
Name: Roberts Resources, Inc.	Spot Description:
Address 1: 520 S. Holland, Suite 207	<u>SW_SE_NW_Sec. 35Twp. 31_SR. 13</u> East
Address 2:	2970 Feet from North / 🗘 South Line of Section
City: Wichita, State: KS Zip: 67209 +	3630 Feet from 🗸 East / 🗌 West Line of Section
Contact Person: Kent Roberts	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 721-2817	□NE □NW ☑SE □SW
CONTRACTOR: License # 33793	County: Barber
Name: H-2 Drilling, LLC	Lease Name: Catlin Well #: 2-35
Wellsite Geologist: Kent Roberts	Field Name: Catlin
Purchaser: Oneok	Producing Formation: Lower Douglas Sand
Designate Type of Completion:	Elevation: Ground: 1550 Kelly Bushing: 1559
New Well Re-Entry Workover	Total Depth: 4549 Plug Back Total Depth: 4516
Oil SWD SIOW	Amount of Surface Pipe Set and Cemented at: 262 Feet
	Multiple Stage Cementing Collar Used? Yes No
CM (Coal Bed Methane) Temp. Abd.	If yes, show depth set: Feet
Dry Other (Core, WSW, Expl., Cathodic, etc.)	If Alternate II completion, cement circulated from:
If Workover/Re-entry: Old Well Info as follows:	feet depth to:
Operator:	Drilling Fluid Management Plan
Well Name:	(Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth:	Chloride content: 15000 ppm Fluid volume: 480 bbls
Deepening Re-perf Conv. to Enhr Conv. to SWD	Dewatering method used: Haul off
Plug Back:Plug Back Total Depth	'
Commingled Docket No.:	Location of fluid disposal if hauled offsite:
Dual Completion	Operator Name: Roberts Resources, Inc.
Other (SWD or Enhr.?) Docket No.:	Lease Name: Larson C #1-4 License No.: 32781
10/27/2008 11/8/2008 1/21/2009	Quarter NE Sec. 4 Twp.32 S. R. 13 East West
Spud Date or Recompletion Date Date Reached TD Recompletion Date Completion Date or Recompletion Date	County: Barber Docket No.: D-30143
Kansas 67202, within 120 days of the spud date, recompletion, workover or of side two of this form will be held confidential for a period of 12 months if re	th the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information equested in writing and submitted with the form (see rule 82-3-107 for confidence) report shall be attached with this form. ALL CEMENTING TICKETS MUST form with all temporarily abandoned wells.
are complete and correct to the best of my knowledge.	the oil and gas industry have been fully complied with and the statements herein
Signature: \(\text{\text{all}} \)	KCC Office Use ONLY
Title: President Date: 2/10/2009	Letter of Confidentiality Received
Subscribed and sworn to before me this 10 day of February	, If Denied, Yes 🗌 Date:
CONNIE R. RICHARDSON	Wireline Log Received RECEIVEL Geologist Report Receiven RECEIVEL
Notary Public: My Appt. Exp. 12-12-11	UIC Distribution
Date Commission Expires:	FEB 2 5 2009

Side Two

Operator Name: Rob	erts Resources, I	nc.	Lease N	Name: _C	atlin		Well #: _2-35	5	
Sec. 35 Twp. 3			County:	Barbe	er				
time tool open and clo	osed, flowing and shu es if gas to surface te	nd base of formations per ut-in pressures, whether s est, along with final chart report.	shut-in press	sure reac	hed static leve	I, hydrostatic pres	ssures, bottom h	ole temperature, fluid	
Drill Stem Tests Taker		✓ Yes No		V Lo	og Formation	on (Top), Depth a	nd Datum	Sample	
Samples Sent to Geo		✓ Yes		Name Onaga	e a Shale		Top 2608	Datum -1049	
Cores Taken Electric Log Run (Submit Copy)		Yes No Heet			ebner 3534 -197 per Douglas Sand Not Present Not				
List All E. Logs Run:				Lowe	· Douglas San ng	d	3664 3720	-2105 -2161	
CNL/CDL, DI	L, MEL, CBL			Missi	ssippi		4238	-2679	
	·	CASING Report all strings set-	RECORD	✓ Ne		ction, etc.			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weig Lbs. /	ght	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives	
Surface	14-3/4"	10 3/4"	32		262	60/40 poz	250	3%cc, 1/4# cellflake	
Production	7-7/8"	5 1/2"	14		4548	AA-2	310	gas block	
		ADDITIONA	L CEMENTIN	NG / SQL	EEZE RECORI)			
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone	Depth Top Bottom	Type of Cement	#Sacks	Used		Type and	Percent Additives		
Shots Per Foot		ION RECORD - Bridge Plu Footage of Each Interval Pe				acture, Shot, Ceme		d Depth	
4	3666-3670			J	None				
TUBING RECORD: 2	Size: 3/8"	Set At: 3651	Packer A None	it:	Liner Run:	Yes 🗸 N	lo		
Date of First, Resumed	Production, SWD or Er	nhr. Producing Me	_	✓ Flowin	g Pum	ping Gas	Lift Oth	ner (Explain)	
Estimated Production Per 24 Hours	Oil 0	Bbls. Gas 220	Mcf	Wat	er O	Bbls.	Gas-Oil Ratio	Gravity	
Vented ✓ Sol	ION OF GAS: d Used on Lease	Open Hole	METHOD OF			ommingled 3	PRODUCTI 3666' to 3670'	ON INTERVAL:	



Liberal

ROBERTS RESOURCES, INC.

520 HOLLAND

SUITE #207

WICHITA

KS

67209

ATTN:

PAGE

1 of 1

CUST NO

1975-ROB024

INVOICE DATE

10/29/2008

INVOICE NUMBER

1975001420

LEASE NAME

Catlin

WELL NO.

2-35

COUNTY

Barber

STATE

Ks

JOB DESCRIPTION Cement-New Well Casing/Pipe:

JOB CONTACT

JOB # E	QUIPMENT # 301	PURCHASE ORDER NO.		,	TERMS Net 30 DAYS	DUE DATE 11/28/2008
For Service Dates:	10/28/2009	to 10/28/2008	QTY	U of M	UNIT PRICE	INVOICE AMOUNT
1975-01422	10/20/2000	10/20/2000				•
1975-21012 Co	ement-New Well (Casing 10/28/08				·
Pump Charge-Hourly Depth Charge; 0-			1.00	Hour	1000.000	1,000.00
Mileage Blending & Mixing Charge			250.00	DH	1.400	350.00
Mileage Heavy Equipmen	t Mileage		70.00	ĎН	7.000	490.00
Mileage Proppant and But Charge	-		376.00	DH	1.600	601.60
Pickup Car, Pickup or Va	an Milaaga		35.00	Hour	4.250	148.75
Additives Cello-flake	in Nineage		54.00	EA	3.700	199.80
Calcium Chloride Cement 60/40 POZ		•	645.00 250.00		1.050 12.000	677.25 3,000.00
Supervisor Service Supervisor	or Charge		1.00	Hour	175.000	175.00
			ECEIVED PORATION COMMIS	S101		
		FE	3 2 5 2009			
		CONSE	RVATIONDIVISION VICHITA, KS	,		
DI FACE DENIT TO		DOTUED CORRESPONDI		BID DISC	OUNT	-1,195.63

PLEASE REMIT TO: BASIC ENERGY SERVICES, LP PO BOX 841903 DALLAS, TX 75284-1903

7

SEND OTHER CORRESPONDENCE TO: BASIC ENERGY SERVICES, LP PO BOX 10460 MIDLAND, TX 79702

RID DISCOON! SUBTOTAL TAX **INVOICE TOTAL**

5,446.77 200.29

5,647.06



Pratt

ROBERTS RESOURCES, INC.

520 HOLLAND

SUITE #207

WICHITA

KS

67209

ATTN:

1970-ROB024

INVOICE DATE

11/10/2008

INVOICE NUMBER

1970002762

CUST NO

LEASE NAME

PAGE

1 of 2

Catlin

WELL NO.

2-35

COUNTY

Barber

STATE

KS

Cement-New Well Casing/Pipe: JOB DESCRIPTION

JOB CONTACT

JOB # 1970-02768	EQUIPMENT # 301	PURCHASE C	ORDER NO.		TERMS Net 30 DAYS	DUE DATE 12/10/2008
		<u> </u>	QTY	U of M	UNIT PRICE	I INVOICE AMOUNT
ior Sonvice D	ates: 11/09/2008 to	11/09/2008				
	ates. 11/05/2000 to	11/00/2000			·	
970-02768			,		1	
1970-19180	Cement-New Well Cas	sing 11/9/08	4.00		2520.000	2 520 00
Pump Charge-			1.00	Hour	2520.000	2,520.00
	rge; 4001'-5000'	•	1.00	EA	290.000	290:00
Cement Float E			1.00	EA	290.000	290:00
5 1/2" Bask			1.00	EΛ	360.000	360.00
Cement Float E			1.00		300.000	300.00
Auto Fill Flo			1.00	FΔ	400.000	400.00
Cement Float E	equipment on Plug and Baffle	•	1.00		100.000	100.00
	-	İ	10.00	EA	110.000	1,100.00
Cement Float E	_quipinent		10.00		,,5.556	1,,,,,,,,,
Extra Equipme	nt .		1.00	FA	200.000	200.00
Casing Swi			,,,,,			
Mileage	ver Kernar		325.00	DH	1.400	455.00
	nd Mixing Service		020.00	,		
Charge	id whalling dervice		·			
Mileage			80.00	DH	7.000	560.00
	ipment Mileage					
Mileage	,		612.00	DH	1.600	979.20
	nd Bulk Delivery					
Charges	•					
Pickup	•	ļ	40.00	Hour	4.250	170.00
	e Charge(Pickups,					
Vans, or Ca						
Additives	·		10.00	EA	44.000	440.00
CC-1, KCI	Substitute	-n				
Additives	Substitute RECE KANSASCORPORA	IVEL COMMISSION	77.00	EA	4.000	308.00
De-foamer	CORPORA	LIOM COMMISS		*		
Additives	KVINZYZCOW	- 2000	245.00	EA	7.500	1,837.50
FLA-322	EFB 2	J 7000	_			
Additives			306.00	EA	5.150	1,575.90
Gas-Blok	COMSERV	ationdivision Chita.Ks				
Additives	MI	Auruna .	1,622.00	EA	0.670	1,086.74
Gilsonite		·	4 550 50	-		4-0-0
Additives			1,558.00	EA	0.500	/ 179.00
Salt			. 005.00		47.000	F 505 00
Cement			325.00	EA	17.000	5,525.00
AA2 Cemei	nt					<i>U</i>



Pratt

ROBERTS RESOURCES, INC.

520 HOLLAND

SUITE #207

WICHITA

KS

67209

ATTN:

PAGE

2 of 2

CUST NO

1970-ROB024

INVOICE DAT 11/10/200

INVOICE NUMBER

1970002762

LEASE NAME

Catlin

WELL NO.

2-35

COUNTY

Barber

STATE

KS

JOB DESCRIPTION

Cement-New Well Casing/Pipe:

JOB CONTACT

JOB # 1970-02768	EQUIPMENT #	PURCHASE	ORDER NO.		TERMS Net 30 DAYS	DUE DATE 12/10/2008
Supervisor Service Sup	pervisor Charge		QTY 1.00	U of M Hour	1	INVOICE AMOUN 175.00
			`			
						•
				1.		
	191/4RV	RECEIVED ISCORPORATION COMMISSION				
		FEB 2 5 2009				
	f	CONSERVATION DIVISION WICHITA, KS				
4.5.7	1 6 ,43	i wa				
ASE REMIT TO: iC ENERGY SE	SEND	OTHER CORRESPONDENC		D DISCOUN	VT	-3,939.88

PO BOX 841903 DALLAS, TX 75284-1903

BASIC ENERGY SERVICES, LP PO BOX 10460 MIDLAND, TX 79702

SUBTOTAL TAX

14,821.46 574.95

INVOICE TOTAL

15,396.41